Scan the QR code to verify that you have
the latest instructions or visit

vaultenclosures.com/instructions

W, VAULT

DESIGNED TO PROTECT. BUILT TO LAST. ASS EM B LY | N STRU CTl O N S

VESA MOUNTING #10-32x 1/4 #10-16 x 1/4
PLATE Panhead Screw Panhead Blunt
(2) (8) Self-tapping Screw
(4)
D E

10-32 Hex Nut #10-32 x 3/8

(4) Flathead Screw
(4)

AI-STB-WMFLAT REV C vaultenclosures.com



1. CONNECT TO KIOSK MOUNTING
A. INSTALL PLATE
ONTO CONNECT

B. INSTALL PLATE
ONTO KIOSK

1. Install Plate onto CONNECT using the
410-32 x 1/4 pan head screws provided.

C. ROUTE CABLE

1. Install plate onto KIOSK using the

D. ALIGN CONNECT
ONTO KIOSK

1. Route cable on the Plate as shown.
Refer to KIOSK instructions for routing
the cable through the KIOSK. doesn't get pinched.

E. SCREW THE PLATES TOGETHER

1. Install the 4 10-16 x 1/4 pan head
self-tapping sheetmeal screws to
screw the two Plates together.

REFER TO TABLET ENCLOSURE INSTRUCTIONS
TO FINISH YOUR SOLUTIONS ASSEMBLY

ENCLOSURE IS SIMILAR

410-32 x 1/4 pan head screws provided.

1. While your aligning the holes on the
two Plates make sure that the cable

* CONNECT IS SHOWN OTHER

2. PRO TO WALL MOUNTING
A. INSTALL PLATE B. INSTALL PLATE

ONTO PRO ONTO WALL
5 A (\‘%
. T A
d e @,, ,,,,,,,,,,,,,,,,, Sj\\@

1. Install Plate onto PRO using the 4
10-32 x 3/8 pan head screws provided.

1. Use appropriate fasteners to mount
the bracket to the wall. (Not Included)

* Refer to tablet enclosure instuctions
before proceding to to step C.

C. SCREW THE PLATES TOGETHER

1. Install the 4 10-16 x 1/4 pan head
self-tapping sheetmeal screws to
screw the two Plates together.

v ¥

* PRO IS SHOWN OTHER
ENCLOSURE IS SIMILAR




